866

10
0
19
4
3
0
2
0
1
4
0
2
0
0
0
%

HHH

HHH

3NBE
AD#H

B3
1,300

a3

1
35
1
1
1
1
85

%

SMNREADL

32
62

630

zoooo0100oooooo3oooooooooooooooooooooooooooooooooooxooxoooz
< 0 , ,

ww PPl EEEEEEFEEEEEEEEEEEEEEEEEEEEEEEE e e s s s T s e[ [= 55|
ww B EEEEFEE e e T e e e e e EEE e e e e e e e e R e e e T e e e

670

144
242
298

42
735
101
866

0
1
25
7
3
1
4
1
6
4
0
2
0
0
0
64
0
1
0
1
1
1
0
0
0
1
0
0
15
8
0
0
8
3
1
18
3
28
2
1
0
0
1
1
17
17
0
T
1
1
1
1
0
1
9
0
0
0
145
AD#%| HHER

252
407
377
60
1,107
49

28

23

47
147
46

46
1,300

E:S
ES

THTE2REE S

HHE

12
173
205
517
28
16
30
28
28
630

L]
E

o

GEINGE

3

140
234
172
590
21
12
17
670

xE

5=

857

I x

. = i 1 |ix |32 i
o 5 & I T o o] [ [ [ ] |
= b Ed b F # | 5 2|5 m B EfERe e |e e | e
2 u % u E A = lofikla| [Bla AR e Y g et i
o | & 2 (% i = @@ ||| E EINEINE %12z |-|8 = EEEHEE S S EER
B (| o | o | |2 | (2 [ BN | = (| |4 | | || | | (K A0 | (4O (N | SO B SR B (|| | (R | (B S (R K (< ¢ e ek A A A L L B

e | |m 3R 1 V¢ [ | K | 5 | | |7 [ de | 1| | | | o [t (s [ (1| | o] | R[22 (o [ |8 (o 1 | D | |20 |= |t = i [ i [e < o [o | (o [ [ [ |6

SREE R R R e RERFFFRER R R FEE e e ER e e R F e ER R g RE R e R R R w e S
s B8 E HE E BEISEENEE BE =Ig ENE =2 <38 = S
i €
# #
w® EPEEFEFPERFFEFFIFEREFEREFEEFFERFIFEEFFFEFFFFIFEEEFFFFEFFFFEFERFIFER WE
g2 - 5| B2
S S

sEREEREREFEFEFFEREEEEERE R EERE R EF R R R e FE =N 5

x
x

FRERBIRAORVET GLEA)

HHH

26

6

1
140
35
0
59
18
7
48
26
3
3
234
172

1

1
590

i ! HiE

< 0 T T < O

1,291

ER #4 ER#4

2/1RAEAOBRE

it X A

632

659

18

0

4zssso100210zonss2000139533941023500011430824804509003402124520 o
s F8 B Sg = NEEEEREE B8 S1E3 BNE SIE s & 5]
% < < & B #
FR e O e N P R  HRREENEEREEERAEERNEEEEENNEEEEEEEEHENEEEEHSERERER R =y s
W S(C|z [T |= 52 = TIRBCI2STIRS Yk NS QYR = IR 21 I 2
8 g = 2[R 5 g H
BE = L
= =
S &<
SRRl REREFE R FFF RN EREERNEERSEEE e eEF R EE N EE e g =
HEE S HEEEEEHEE HE IR =~ 5 gz )

it

m4ms1920mmoom0149wmommswmsswws1nmsooo||4302M4n00516014403nw4owm ﬂ
& - N . B ®
0 o
o w
£ b2
® ] ol = = By W =
] B 4| [ B B < [ " 2
w & || [ W W % % |7 7 0d [ 2 | 5 @ I
m =gy k= B o8 | 6 o |9 9 |8 £ 2 HIR El | | |’ H# X |R|2 “ H o | b Iz |z BF |0 ® = ol kS H £l
= R |E (R E|E|E|W(KE|T | M (H ($3 (T |E (H (e (8 K |08 (H [H ({E [{E [ |4 B |5 |K [ |00 @) (K=K E R (RS (K (= ||| |E |E |E | ||| 5|8 & X~ e (RS |2 R |E |E R S W | W | (2 | (B (RS (1€ =k I
1K ([ [ < [ 3K %€ |42 4K |oR |4 (182 | [ O (4 [0 [0 [ hr (o [ (R [RE 80 [ = [= [ [ | Bk [ 4K o8 08 | K 4 [ [ [ |48 K [je [<[£[= % K |15 | |08 |Ho e | < |8 |08 |08 |08 (e 1) | < <SR it K B |1 | K 1 |37 |5 | |2 R R R R LR kS K 4




